[deg]

1 do

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

13000 GeV pp Jets

il ' T ' T ' T ' T ' | ' T ' I T ' T ' H

0.45 - AQ(jj) (CMS back-to-back jets) -

~ — = CMS —

t<|3 0.4 — —#A— Pythia 6.428 370 —

© — A Pythia 6.428 373 -

0.35 — ---0-- Pythia 6.428 374 7

T Pythia 6.428 375 .

~—  --4-- Pythia 6.428 381 7

0.3 —~ - v~ Pythia 6.428 382 =

0.25 —

- =

0.2 — —]

0.15 |— —

0.1 . —]

0.05 - -

S :

A | | | | | | | | | ]

| ' ! =

2 & =

w T B

LE) - _

2 g [Erre——g. -

8 —
5 B

x
05 — |
| : L : L : L : L : | : L : L : L : L : |
170 175 180



	Contents
	Page 1


